motobilt.com | 334-219-2333

0
N
-
-
1]
=
—
o
[Tt
=<
o]
V]
14
©
(3
21]
=
o]
£
("]
]
n
<
1
-—
0
-
-
[21]
=

Lo TOEBIL T,




Lo TOEBIL T,

MB1181 - Assembly Bed Rack for MB1178

ASSEMBLY STEP 01

MB1181-02

MB1181 - WELDMENT POST

MB1181 - WELDMENT POST
Flat Washer, 5/16"

Hex Bolt, 5/16"-18 x 0.75"

Nylock Nut, 5/16"-18
Flat Washer, 5/16"

DETAIL A

MB1181-05

MB1181 - WELDMENT POST

MB1181 - WELDMENT POST

motobilt.com | 334-219-2333



LMo TOEBIL T,

MB1181 - Assembly Bed Rack for MB1178
ASSEMBLY STEP 02

MB1181-07

MB1181-07_MIR e & MB1181-03

MB1181-03

MB1181-07_MIR

Hex Bolt, 5/16"-18 x 1.00"
8 Locations MB1181-07

Flat Washer, 5/16" ' , Flat Washer, 5/16"
8 Locations D : 8 Locations

Nylock Nut, 5/16"-18
8 Locations

motobilt.com | 334-219-2333




Lo TOEBIL T,

MB1181 - Assembly Bed Rack for MB1178

ASSEMBLY STEP 03

Hex Nut, 5/16"-18 x 0.75"

Flat Washer, 5/16"

MB1181-06

Flat Washer, 5/16"

Nylock Nut, 5/16"-18

motobilt.com | 334-219-2333



Lo TOEBIL T,

MB1181 - Assembly Bed Rack for MB1178

ASSEMBLY STEP 04

All hardware shown is included
with Baja Design S2 lights & not
supplied with the Motobilt kit.

Flip this bracket to the orientation
shown. Bracket normally assembles
differently.

BAJA DESIGNS "S2" LED LIGHT ASSEMBLY
(SOLD SEPARATELY)

MB1181-05

MB1181-06

Hole for wiring

INSTALLATION

motobilt.com | 334-219-2333



LMo TOEBIL T,

MB1181 - Assembly Bed Rack for MB1178

ASSEMBLY STEP 05

Assemble using Hex Bolts, Washers
& Nuts supplied

motobilt.com | 334-219-2333



